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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of ---------- who has never abandoned his principles for the sake of
making money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interva 2) perception 3) zenith 4) distraction

3- Jackson’s poor typing skills were a ---------- to finding employment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4) versatility

4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

5- Because biology is such a ---------- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be ----------
the job. Many industrial diseases mimic sickness from other causes.
1) attributed to 2) precluded from  3) refrained from 4) exposed to

7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued

8- In the absence of death from other causes, all members of a population may exist in
their environment until the ---------- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset 3) core 4) output

9- Before the invention and diffusion of writing, translation was ---------- and oral;
persons professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral  3) eventual 4) instantaneous

10-Public attitudes toward business regulation are somewhat ---------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The variety of successful dietary strategies (11) ---------- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diet compare with (12) ---------- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) ---------- both help people shed pounds through the same basic mechanism:
(14) -==-==--- major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) ---------- —your body begins burning its fat stores and you lose
weight.

11- 1) employed  2) are employed 3) is employed 4) then employed

12- 1) those that ~ 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits
each space. Then mark the correct choice on your answer sheet.

PASSAGE 1:

Iran currently ranks 68th in tourism revenues worldwide. Iran with attractive natural and
historical sites is rated among the 10 top touristy countries in the world in terms of its history.
Tourism attracted 2.3 million people to Iran in 2009 and 3.2 million in 2011. Iran plans to have
20 million tourists annually by 2025.

The landscape of Iran is diverse, providing a range of activities from hiking and skiing in the
Alborz mountains, to beach holidays by the Persian Gulf and the Caspian Sea. Over the next
five years a number of tourism-friendly infrastructure projects will be undertaken on the
Persian Gulf island of Kish, which at present attracts around 1m visitors per year, the majority
of whom are Iranian. Iranians are generally warm, friendly and generous individuals with a
strong interest in foreigners and other cultures.

Before the Iranian revolution and the subsequent Iran—Iraq War, tourism was characterized by
significant numbers of visitors traveling to Iran for its diverse attractions, boasting cultural
splendors and a diverse and beautiful landscape suitable for a range of activities. Tourism
declined dramatically during the Iran—Iraq War in the 1980s.

Since the Iranian revolution in 1979, the majority of visitors to Iran have been religious
pilgrims and businesspeople. Official figures do not distinguish between those traveling to Iran
for business and those coming for pleasure, and they also include a large number of Iranian
diasporas returning to visit their families in Iran or making pilgrimages to holy Shia sites near
Mashhad and elsewhere. Domestic tourism in Iran is one of the largest in the world. Despite
the international tensions, the government continues to project strong rises in visitor numbers
and tourism revenue over the forecast period, and to talk of projects to build an additional 100
hotels, for example, to expand its currently limited stock.

16- What does the passage mainly discuss?

1) Tourism in Iran 2) Landscape of Iran

3) Iran's Diverse Attractions 4) Visitors' Number in Iran

17- According to the passage, Iran ranks 68" in tourism the world.
1) costs throughout 2) expenditures all around

3) incomes throughout 4) expenses all around

18- One can infer from the passage that the number of visitors in 2011
million in Iran as compared with 2009.

1) decreased by 0.9 2) decreased by 3.2
3) increased by 3.2 4) increased by 0.9
19- It is mentioned in the passage that Iran's provides a range of activities

from hiking and skiing in Alborz mountains to beach holidays by the Persian Gulf and
the Caspian Sea.

1) varied scenery 2) identical environment

3) uniform panorama 4) homogeneous landscape

20- One can infer from the passage that the Persian Gulf island of Kish -------=eeceeeemm- 1m
visitors each year, most of whom are Iranian.

1) repels around 2) appeals about 3) appeals exactly  4) repels exactly
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21- According to the passage, Iranians are generally ------------c----- people with a strong
interest in foreigners and other cultures.
1) hostile and openhanded 2) friendly and openhanded
3) sympathetic and stingy 4) agreeable and stingy
22- If the author is right, tourism -------=---------—- during Iran-Iraq War in the 1980s.
1) considerably bloomed 2) was remarkably increased
3) was remarkably reduced 4) considerably flourished
23- One can infer from the last paragraph that --------------—--- since 1979 revolution.

1) very few people have visited Iran for pleasure

2) many people have visited Iran for entertainment

3) very few people have made pilgrimages to holy Shia sites near Mashad
4) many people have made pilgrimages to holy Sia sites near Qum

PASSAGE 2:

Tran's Cultural Heritage, Tourism and Handicrafts Organization is responsible for the
establishment, development and operation of tourism facilities in Iran, planning for the repair
or extension of tourism facilities through direct investment or providing loans to the private
sector or entering into partnership with the private sector, issuing licenses and supervising the
establishment and administration of hotels and restaurants and travel agencies and qualification
and rating of these units. Investment in Iran's free trade zones is exempt from taxes for up to 20
years.

Area considered for further expansion in the tourism sector in Iran are eco tourism, coastlines,
restoration of historical relics, handicraft townships, and health tourism (e.g. water therapy).
30,000 people come to Iran each year to receive medical treatment (2012).

Officials state that Iran has in recent years earned about US$1bn a year from tourism. Iran
currently ranks 68th in tourism revenues worldwide. Iran with attractive natural and historical
sites is rated among the "10 top touristy countries” in the world. Close to 1.8% of national
employment is generated in the tourism sector which is slated to increase to 10% in the next
five years (2003). Weak advertising, unstable regional conditions, a poor public image in some
parts of the world, and absence of efficient planning schemes in the tourism sector have all
hindered the growth of tourism.

Iran's '20-Year Vision' document projects the investment of over $32 billion in the country's
tourism sector and targets 20 million tourists by 2025. In order to encourage domestic and
foreign direct investment in this sector, the 50 per cent tax exemption previously granted to

tourism enterprises has been extended to include five-star hotels. Tariffs for utilities comply
with industrial ones.

24- What would the best topic be for the above passage?

1) Domestic and Foreign Investment in Tourism

2) Efficient Planning Schemes in Tourism Sector

3) Investment in Tourism and Iran's Free Zones

4) Organization of Cultural Heritage and Tourism

25- According to the passage, Iran's CHTHO is responsible for the establishment,
development and operation of tourism in Iran.

1) possibilities 2) resources 3) features 4) proficiencies
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26- Which of the following is NOT true of Iran's Cultural Heritage, Tourism and
Handicrafts Organization according to the passage?

1) It oversees the establishment and administration of travel agencies.

2) It directly invests in issuing licenses as regards hotels and restaurants.

3) It supplies loans to the private sector for the repair of tourism facilities.

4) It enters into partnership with the private sector for the extension of tourism facilities.

27- It is mentioned in the passage that one of the areas considered for tourism expansion
in Iran .

1) are related to protecting environment in big cities
2) concerns giving medical treatment abroad

3) are related to repairing artifacts

4) concerns exporting handicrafts

28- According to the passage, the tourism sector in Iran comprises 1.8%
of national employment which is up to 10% in the next five years.

1) precisely — decided to rise 2) precisely — planned to decline

3) about — decided to decline 4) nearly — planned to rise

29- Which of the following is NOT regarded by the author among the obstacles in the way
of tourism growth in Iran?

1) Insecure geographical situations 2) Poor promotion and publicity

3) Professional Planning schemes 4) Lack of systematic scheming

30- The author finally states that the 50 per cent tax exemption has already been granted
to tourism investment in this sector.

1) initiatives to support only domestic

2) organizations to hinder only international

3) ventures to hinder both national and international

4) businesses to support both national and international
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